©4x2—|—4x—|—1 @ 4x? —4x+1

@ 2x2—4x+1 ® 4x2+2x+1

® 2x2 +4x+1

(2x+1)2 = (2x)2 +2x2xx 1412
=4x>+4x+1




2.

Bx+4dy)?=ax* +bxy+coy* @, AT a,b,cFa+b+c9
29

® 11 @ 19 ® 25 @ 31 (@)49

(3x)2+2x3xx4y+(4y)? = 9x? +24xy+16y? ©|B2 a+b+c =
9+ 24 + 16 = 49 o|t}.




@D x®—4x-4 @ x?2-2x-2 ® x2-2x+14
@x2—4x+4 ® x*+4x+4

X +2xxx(=2)+ (-2)2 =x*—4x+4
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5. (r-3) (x+ 1) O AANANA x 0] At 45 e




(5x = 6)(4x + 3) = NG A7

i 1 .

@D 20x2% +2x-18 @ 20x% 4+ 4x-18

® 20x2 +6x—18 @ 20x2 -9x+ 18

@20)62 —9x—-18

(5x—6)(4x+3) = (5x4)x% + {5 X 3+ (=6) X 4}x + (-6) X 3 =
20x% — 9x — 18




7. H=ASAANE O, x AT P 2 A2

@ (3x+1)? @ (3x-1)2

® (Bx—1)(x-3) @(3x+ 1)(x+3)
® Bx+1)(3x-1)

B

OZ ANsHH x o A7t + 6

@+ A7std x o A7t -6

@2 A st x o A7t -10

@+ 75t x o] A5t 410

G A7NsHd x o A7t 0

urebA] x o A7t 7 2 A2 @Helt.




8. (3r—2)(3x+2y-2) 9] AAHARNA x9] AL

® -16 @ -12 ® -8 @ 4 ® 10

(3x-2) = AR X|¥stH
(Fod A=A (A +2y)
A% +2Ay

A=3x-22 g5ty
(3x=2)2+2(3x-2)y
= 9x? — 12x + 4 + 6xy — 4y?
webA 2] A4 12015




9. (-3x+4y)(3x+4y) - (lx + 5y) <lx - 5y> £ o] shH?

4 4
111 ) 1, 2
@® 11465x + 25y @) 11367x + 16y
@ —1—6x2+41y2 @ —Tx2+41y2

137
@ —?XZ + 31y2

B

(a2 + - { (L) - <5y>2}

= —-9x2 + 16y? — —x? + 25y°

16
_ 5, 2
=16 x° +4ly




10. (x=3)(x*+9)(x+ 3)= A fstA?

® x*-9 @ x*>-81 @ x*-3
@ x*-9 @x4—81

(x=3)(x+3)(x*4+9) = (x* =9)(x* +9) = x* - 81




11, (x-2)(x> 4 4)(x +2)& AASHA?

@D x*-16 @ x*+4 ® xt-4

@x4—16 ® x*+4

(x=2)(x+2)(x* +4) =(x> —4)(x* +4) = x* - 16
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@© (x+7)(x-5)

@ (x-2)(x-3)=x*+6
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13, (x-2)(x+k)=x*+ax+b &, 2a+b O] 27

@ 2 @+ o0 @s ® 10

(x=2)(x+k)=x>+ (-2+k)x—2k=x*+ax+b
a=k-2,b=—2%
©2a+b=2(k-2)+ (~2k) = 2%k —4— 2% = —4




14. (ax-6y)? =25x% +bxy +cy* € W, a+ b+ c O] T2 Fotof=h(H,
a>0)

> E

> =g —19

S5 ~
(ax — 6y)? = a®x* — 12axy + 36y

a’x? — 12axy + 36y* = 25x2 + bxy + cy?

La=>5

S.c=36

—12a=b ..b=-60

a+b+c=5+(-60)+36=-19




15, (x-1)(x=2)(x+2)(x + 3)= HANPE ©f x| ASE Fotoiet,

> E

> HE: -8

B

(x= 1)(x+2)(x-2)(x+3)
=(x?+x-2)(x>+x-6)

x? +x =12 S}

(x> +x-2)(x* +x-6)
=(t-2)(r-6)

=12 -8t+12

= (x> +x)2-8(x2 +x)+ 12
=+ 23+ x> -8x2 - 8x+12
= x* +2x° - Tx° —8x+ 12

=> x o] A4 -8




16.

3L A]

A FAE o] 8oty g 9] FS AATE o, Uy A] Yl o E
Aol HEE= ALY

D 1.7x2.3 @ 94 % 86 @28><31

@ 99 x 101 ® 52x48

®, @, ®,® (a+b)(a-b)=a>-b>
® (x+a)(x+b)=x*+(a+b)x+ab
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£ Axt

0]-85}o] 14.98 x15.02

@ (x+a)(x+b)=x*>+(a+b)x+ab

@ (x+a)?

X2+ 2ax + a®

=x%2 - 2ax +a?

® (x-a)?

@ (x+a)x-a)

x2 —a2

® (ax+ b)(cx+d) = acx® + (ad + bc)x + bd

(15 — 0.02)(15 + 0.02)

152 — 0.022
225 — 0.0004

224.9996

14.98 x 15.02




18.

the F Foldl 0] A4k 2HHaHA 5] Slate] ol 8@
T4 B0 AASA e AL

® 912 - (a+b)? = a® + 2ab + b*
@ 597% - (a - b)? = a® — 2ab + b?
® 1032 - (a +b)? = a® + 2ab + b
6@384><75—>(a+b)(a—b):az—b2

® 50.9%49.1 = (a+b)(a-b) = a* - b*

2~
T

()]
AR

@ 84x 75 = (80 +4)(80 - 5)
(x+a)(x+b)=x*+ (a+b)x+ab

L
=



19.

f
0%
o
>

_ 1003 x 1005 + 1 .
A& o]-8-5tof BTV = Aitstolet,

1004

(1004 - 1)(1004 +1) +1 _ 1004 -1 +1

1004 1004
= 1004




20. x+y=9, xy=3 < o, x> +y2—xy 9 %27

O 52 @ 56 ® 60 @72

® 80

2 —xy+y* =(x+y)%-3xy
—92_-3x3
=72




& A g FABAL Bstel TeL AL () o

(4+2)(42+22) (44+24) (48+28) (416+216) (432+232)+263
—9()

@® 126 @127 ® 128 @ 129 ® 130

—

4+2) (42+22) (44+24) (48+28) (416_|_216) (432+232) oﬂ

N =

X
=

[
B
i
I
S
o,

N | =

x (1-2) =1 0|2 4°] e WaA] gert)

(4-2)(4+2)(42 +22)(4% + 2%) (45 + 28) (416 + 216) (432 4 232)

DN | =

X(42_22)(42+22)(44+24)(48+28) (416+216)(432+232)
X(44_24)(44+24)(48+28)(416+216) (432+232)
X(48_28)(48+28)(416+216)(432+232)

% (416 _216)(416 _,’_216)(432 +232)

1
% (432 _ 232)(432 4 232) — 5(464 _ 264)

N= N~ N~ N N~ N

(2128 _ 264)
_ 2127 _ 963

wheba] FolFl Al (2127 - 263) 4 263 = 2( ) o]B =
no20) =127 ~()=127




22.

(1-2)' o] AALONA, 22 o A%7} 171 2 o], £ 9] Ad-0] ZHe
Fajolat,

> E:

> ™eh: -1

B

(1-x)19 o] AAANA 2 20 7ol AGEL Fto]
.

webd 2 o) Ael X7 o] AdE UGl AL, HE
2t}

2, A7

=

=




23. 2-x-7=0¥, (x+1)(x=2)(x+2)(x-3)(x+3)(x—4) & A=
Fstolat,

> E:

> =g -25

B

P -x-T=02x-x=72 FIl}.
(x+D(x=-2)(x+2)(x=3)(x+3)(x—4)
=2 -x-2)(x2 —x-6)(x* —x-12)
(7-2)(7-6)(7-12)

—25
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o S 7R RS el YA E ool

¥ ETEUFAS WY F2 a0,y ETEHFAS R F2 b
2kar s
x=Ta+4, y=T7b+5
. xy = (7Ta+4)(Th +5)
= 49ab + 35a + 28b + 20
= 7(Tab+5a+4b+2) +6

et xy 2 7 2 e U A= 6 o],




25. W -Tx+1=0 Ll b+ o o B Fofolek

cCh "
H -

| 2
> Heh: 3

B

1

W-Tx+1=0 RS x 2 UrB s - =
1., 1 1
Tk (x4 =)2-2=x+ = O|BZ |x| + =
I x Jxd

olct,

(- x#0)

3 (. > 0)




